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A- k.
Find the answer How to read the addition
11+7=18 eleven plus seven is equal to eighteen
22 +9= 31 Twenty-two plus nine equals thirty-one
13 +71= 84 thirteen plus seventy-one is equal to eighty-four
55 + 6= 61 fifty-five plus six is equal o sixty-one
35 +3b=70 thirty-five plus thirty-five equals seventy
B- Find;
1) 7 plus 7. 5) 12 and 56.
7+ 12 + 56= 68

2) the sum of 33 and 7.

33+7=40

3) 66 and 34.
66 + 34= 100

4) 5 add 45.
5 + 45= 49

6) the total of 11 and 66..
11+ 66=77

7) the sum of 15 and 17.
15 +17= 32

8) 71 plus 17.
71+ 17= 88
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